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Question Number : 1 Question Id : 7715134696 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

g i & 0 5 areR MOSFET ol IRdh 4R 1 Wlglie & o folt U SIS o |1 U DC-
DC % URad® @1 Haw dieeal 48V & a1 i, 24Q @1 Wiklv® YR &1 HiRkd &l g1 URda,
R e ot o vraree e 81 fRafe amafy 250 Hz 81 3R 3R 9fd 6 are 8, at MOSFET
g o7 oyt fefevue! & v @l

A DC-DC buck converter, with a power MOSFET as the controlled switch and a diode
for free-wheeling the inductor current, has an input voltage of 48V and the output
feeds a resistive load of 24(). The converter is operating in continuous conduction
mode. The switching frequency is 250 Hz. If the load power is 6 Watts, find the
MOSFET switch on duration in milliseconds.

(a) 3 (b) 2 ()1 (d) 0.5

Options:
1.a
2.b
3.C
4.d

Question Number : 1 Question Id : 7715134696 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

(er0n el o &0  ura MOSFET a4 ke 4R 1 SpicglieiT -1 o fe1L U SIS o W1 U DC-
DC % URaw® ! FHa dicear 48V g qu1 1, 24Q 1 Wiy ¥R & 4iRa S 81 Raa,
R e oty o vt e g1 fRafd amafy 250 Hz 31 3R 3R 9fd 6 @ 8, at MOSFET
g o7 orafy frefmue! o war o

A DC-DC buck converter, with a power MOSFET as the controlled switch and a diode
for free-wheeling the inductor current, has an input voltage of 48V and the output
feeds a resistive load of 24(). The converter is operating in continuous conduction
mode. The switching frequency is 250 Hz. If the load power is 6 Watts, find the
MOSFET switch on duration in milliseconds.

(a) 3 (b) 2 ()1 (d) 0.5

Options :
1.a
2.b
3.C
4.d
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Question Number : 2 Question Id : 7715134697 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

MOSFET @t wuds fufa ufety 0.20 3w g1 MOSFET, 8 A @ fow arga g1 fura 1 A iy o
T3 STl 1 1 9 et 3| MOSFET # siterd Wy fRufa g1 a1 e e

The ON state resistance of a MOSFET is 0.20 Ohm. The MOSFET is rated for 8 A. It carries
a periodic current as shown in the Figure 1. Find the average ON state loss in the MOSFET,

A
|
bA
a2 101/
f 1/Figure 1
(a) 24W (b)4.8W (c)72W (d)9.6oW
Options :
1.a
2.b
3.c
4.d

Question Number : 2 Question Id : 7715134697 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

MOSFET @t §d fRufe ufewty 0.20 3w g1 MOSFET, 8 A & forw argra 31 fo |  quiiy e
T3 ! 4R 1 a1 ol 51 MOSFET # ivfa ¥ fufa 31 a1 e e

The ON state resistance of a MOSFET 15 0.20 Ohm. The MOSFET is rated for 8 A. It carries
a periodic current as shown in the Figure 1. Find the average ON state loss in the MOSFET,

A
|

6A

amj 2 10m/

fF 1/Figure 1
(a) 24W (b)4.8W (c)72W (d)9.6W
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Options:
1.a
2.b
3.c
4.d

Question Number : 3 Question Id : 7715134698 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

I fear m fEA (fE 2), R=40Q TN L=(0.3/r)H & WY RL-YR TG &l Th -]
dicedl 4id Ufdei B e €1 4R dieed @1 difdd 49 MG S0Hz 1 HigeH Yabid M
=0.6® Y WAH We IR Aige o1 SWN od g URddd & Rag Haau Yodl @i
909 U o1d 81 S0Hz W RL YR, 144kW @ Wiy fdd #fd @l 81 diec # DC
Hid dieedl Vpe @AM ... B

The figure given below (Figure 2) shows a half-bridge voltage source inverter supplying an
RL-load with R=40Q and L=(0.3/r) H. The desired fundamental frequency of the load voltage
is 50Hz. The switch control signals of the converter are generated using sinusoidal pulse width
modulation with modulation index M = 0.6. At 50Hz, the RL load draws an active power of
1.44kW. The value of DC Source voltage Vpc in volts is:

®Voc ol
R L
L AANN— T —
®Voc S\
e 2/Figure 2
(2) 300V2 (b) 500 (c) 5002 (d) 10002
Options:
1.a
2.b
3.cC
4.d

Question Number : 3 Question Id : 7715134698 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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I fear mn fE (fE 2), R=40Q T L=(0.3/r)H & WY RL-HR TG &Xdl Th 3HY-g
diced] 4 WidaM @I ol 81 YR dicedl @1 difed qd MG 50Hz §1 HigeH Ya@ie M
=0.6® Y WEHY We %R Alge &1 SWN $d gL URad® & fag o Yodl @i
9@ U o1d 81 S0Hz W RL YR, 144kW @1 Wiy Wfcd Sid @xal g1 diec # DC
#id dieedl Vpe @AM ... Bl

The figure given below (Figure 2) shows a half-bridge voltage source inverter supplying an
RL-load with R=40€ and L=(0.3/r) H. The desired fundamental frequency of the load voltage
is 50Hz. The switch control signals of the converter are generated using sinusoidal pulse width
modulation with modulation index M = 0.6. At 50Hz, the RL load draws an active power of
1.44kW. The value of DC Source voltage Vpc in volts is:

®Vec i
R L
L AAN— T
OVoc S: N\,
fem 2/Figure 2
(2) 300v2 (b) 500 (c) 5002 (d) 100042
Options :
1.a
2.b
3.c
4.d

Question Number : 4 Question Id : 7715134699 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

0.5°C fated & q -20°C | +55°C w1 & oI @i it fovar @1 31 2w forw ADC fal &
HIG TG . ......... gl

A temperature in the range of -20°C to +55°C is to be measured with a resolution 0f 0.5°C. The
minimum number of ADC bits required

(a) 8 (b) 10 (C) 12 (d) 14

Options :
1.a
2.b
3.C
4.d
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Question Number : 4 Question Id : 7715134699 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

0.5°C favea & g -20°C | +55°C w1 & dIwaH @i il fooar @1 31 3@ forg ADC fael &1
HAH JIA T .......... gl

A temperature in the range of -20°C to +55°C is to be measured with a resolution of 0.5°C. The
minimum number of ADC bits required

(a) 8 (b) 10 (C) 12 (d) 14

Options :
1.a
2.b
3.c
4.d

Question Number : 5 Question Id : 7715134700 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

dhoaeid Al H a7 g . R T Il ¢
In BLDC motor field winding is kept on

(a) ¥eStator (b) Fe/Rotor
(c) gl W i T 1 ¥ g/Can be placed anywhere  (d) srufd/Absent

Options :
1.a
2.b
3.c
4.d

Question Number : 5 Question Id : 7715134700 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

droaerd A H &7 e .. R 7@ Il ¢
In BLDC motor field winding is kept on

(a) ¥eStator (b) Ye¥/Rotor
(c) gl w ff e 1 e g/Can be placed anywhere  (d) srufd/Absent

Options :
1.a
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2.b
3.C
4.d

Question Number : 6 Question Id : 7715134701 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

9 Id-Widd Gdl woile §, FEAw gurelt  "URT U @ o @ g
In a high-power servo motor drive, what is the function of a "current loop" in the control
system?

(a) HieX @ fRT &1 P10, To control the position of the motor

(b) HIX & o P MUAW/To regulate the speed of the motor

(c) HIeX @1 §el-3MUl @1 MU,/ To control the motor's torque

(d) MR dicedl Yy §IC T/ To maintain a constant supply voltage
Options:

1.a

2.b

3.¢C

4.d

Question Number : 6 Question Id : 7715134701 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 Jo-Nfed Gdi wuiiG §, FRE0 yomeh § YRl U @ YeH o 87
In a high-power servo motfor drive, what is the function of a "current loop" in the control
system?

(2) HIeX 1 RUfd &1 FA0, To control the position of the motor

(b) HIR & 9T &I FTA0/To regulate the speed of the motor

(c) HIX &I qe-3g0f @1 FEaw/ To control the motor's torque

(d) RR dicedl Y@ §IC TG/ To maintain a constant supply voltage

Options :
1.a
2.b
3.C
4.d

Question Number : 7 Question Id : 7715134702 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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& AR o A g 8 A €1 o Faw A 11 U e w4 3T A €1 ) el & gt
HHR ... 3l

A memory system has a total of 8 memory chips. Each chip has 11 address lines and 4 data
lines. The total size of the memory system s,

(a) 4Kbytes (b) 8 Kbytes (c) 16 Kbytes (d) 32 Kbytes

Options:
1.a
2.b
3.c
4.d

Question Number : 7 Question Id : 7715134702 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T A ol # o § AR o €1 e o 11 g o a4 et A 81 AR vonelt o

HFR ... T

A memory system has a total of 8 memory chips. Each chip has 11 address lines and 4 data
lines. The total size of the memory system s,

(a) 4 Kbytes (b) 8 Kbytes (c) 16 Kbytes (d) 32 Kbytes

Options :
1.a
2.b
3.C
4.d

Question Number : 8 Question Id : 7715134703 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e ¥ Jdford S Hiex @1 )i 4. 91,90 RIS 0.25Vipm g1 @ & e R
YR 4 A B AR UfRIY 2.5Q §1 AR & Bl SIS & 919 U6 deilg fala Fafa
fepdRt Fardl 31 RpeRt # faw 30 f&0 B @v & §Y 230V RMS, 50Hz T Heilg
ACHA B S WaeH Rif A A @1 am .............. Bl ((2)12=141, (3)12=1.73)
The separately excited DC motor has back emf constant of 0.25V/rpm. The armature
current is 4 A without any ripple. The armature resistance is 2.5 Q. A single phase half wave
controlled rectifier with freewheeling diode is driving the motor. The input to the rectifier

is 230V RMS, 50Hz single phase AC source with a firing angle of 30 degree. The Speed of
the motor under this operating condition is A(2)12=1.41, (3)12=1.73)

(a) 346 rpm (b) 386 rpm (c) 312 rpm (d) P35 Te/None

Options:
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1.a
2.b
3.c
4.d

Question Number : 8 Question Id : 7715134703 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e U Fdfod S Hiex @ TR .91, 99 RRIS 0.25V/pm g1 Ifwre & fa R

YRT 4 A 31 JHR UfRIY 2.5Q 1 AR B Wi SHls & 914 U6 Heig i fafia

fepdRt Fardl 31 RpeRt # faw 30 {7 B @v & |y 230V RMS, 50Hz T Heilg

ACHU R W EH Rd A Al dram .............. gl ((2)12=1.41, (3)12=1.73)

The separately excited DC motor has back emf constant of 0.25V/rpm. The armature

current is 4 A without any ripple. The armature resistance is 2.5 Q. A single phase half wave

controlled rectifier with freewheeling diode is driving the motor. The input to the rectifier

is 230V RMS, 50Hz single phase AC source with a firing angle of 30 degree. The Speed of
the motor under this operating condition is A(2)12=1.41, (3)12=1.73)

(a) 346 rpm (b) 386 rpm (c) 312 rpm [d}szl'ﬁ Tel/None

Options :
1.a
2.b
3.C
4.d

Question Number : 9 Question Id : 7715134704 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 UR U0 H | A &I Y URUY YRT Isc, 0.5 dice &1 Gal URUY dicedl Voc, 0.8 @1 R
i 81 UR By &1 HiHad ed FE H Gl

A solar cell has short Circuit Current Isc of 1 A, Open Circuit Voltage Voc of 0.5 Volt, Fill
factor of 0.8. Find the maximum power output of the solar cell.

(a) 0.5W (b) 04 W (c)0.25W (d)0.2W

Options :
1.a
2.b
3.c
4.d

Question Number : 9 Question Id : 7715134704 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 UR U H L A &I Y URUY 9RT Isc, 0.5 dice &1 Gal GRUY dieeel Voc, 0.8 BT R
Tid g1 GR $E &1 Hdad Add 0 $ oar @

A solar cell has short Circuit Current Isc of 1 A, Open Circuit Voltage Voc of 0.5 Volt, Fill
factor of 0.8. Find the maximum power output of the solar cell.

(a) 0.5W (b)04 W (c)0.25W (d)0.2W

Options :
1.a
2.b
3.c
4.d

Question Number : 10 Question Id : 7715134705 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U &l QU Uq SHis fGFeRI, 200V RMS, 50Hz U6 ®elld AC I § WRled 4R &I
HRT Pl 81 R TSGR Bitd WY T 400 &, ot Fiklvd WR @ IRAW
8l (U8 79 o & SmE, e g

A Single phase full bridge diode rectifier feeds a resistive load from a 200V RMS, 50Hz single
phase AC supply. If the active power drawn by the load is 400 Watts, then the magnitude of
the resistive load is . (Assume the diodes are ideal.)

(a) 50Q (b) 100 Q (c) 200 Q (d)300Q

Options :
1.a
2.b
3.c
4.d

Question Number : 10 Question Id : 7715134705 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U &l QU Uq SHis fGFBR, 200V RMS, 50Hz U6 ®eld AC I § WRled 4R &I
HRT Pl 81 R TS gRT Bitd Wy e 400 &, ot FiRlvd WR @1 IRAW
8l (U8 79 o & SmE, e g

A Single phase full bridge diode rectifier feeds a resistive load from a 200V RMS, 50Hz single
phase AC supply. If the active power drawn by the load is 400 Watts, then the magnitude of
the resistive load is . (Assume the diodes are ideal.)

(a) 50Q (b) 100 Q (c) 200 Q (d)300Q

Options :
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1.a
2.b
3.c
4.d

Question Number : 11 Question Id : 7715134706 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fer 0 @ ¥ 9, FdY dicedl @ SvaMy oiid & UdY H BUTAS Uil & 91,
R de fiH dicedl H YoM &l g2

Which of the given regulator provides regulated dc output voltage with a negative polarity
output with respect to common terminal of input voltage?

(a) Sif¥adfd =/ Boost regulator (b) 8% 187 ,/Buck Regulator
(c) TH-g% 4%, Buck-Boost regulator (d) '3 T81/None

Options:
1.a
2.b
3.¢
4.d

Question Number : 11 Question Id : 7715134706 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

feu o fel § 9, oW diced @1 3valy efiHT & Udy © BUEE gaudl & O,
A de A dicedr o YeH &l §?

Which of the given regulator provides regulated dc output voltage with a negative polarity
output with respect to common terminal of input voltage?

(a) Mfiad® T /Boost regulator (b) 9 FUa®/Buck Regulator
(c) ¥P-g& 05/ Buck-Boost regulator (d) P15 Tel/None

Options :
1.a
2.b
3.cC
4.d

Question Number : 12 Question Id : 7715134707 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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w feydi O SRR (BIT) @1 0@ (3 S@e) a1 UI@ & (3 JEen) H SR
o §U UG Yidd Mg fg & &9 § Iun fod o g1 oiH s § dud & foau

A Bipolar Junction Transistor (BJT) is used as a power control switch by biasing it in the cut-
off (OFF State) and saturation region (ON state). In ON state, for BIT

(2) MIR-IEod qul AMYR-Te! Y, g smfeRe emfie g
Both the base-emitter and base-collector junctions are forward biased.
(b) MUR-IWoid AT ORI § aul MUR-Gae! O Uafce sufea g

The base-emitter junction is forward biased and the base-collector junction is reverse

biased.

(c) MYR-SWvid U4 T § qul SMUR-TI6! 94 oF SR gl

The base-emitter junction is reverse biased and the base-collector junction is forward

biased.

(d) MYR-SAH quUl AMYR-TG! WY, GHI 0y Trdd 3

Both the base-emitter and base-collector junctions are reverse biased.

Options:
1.a
2.b
3.C
4.d

GET IT ON
Google Play

Question Number : 12 Question Id : 7715134707 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

W fRydn 9 R (BIT) @1 0@ (3T @R Ul Uqw &7 (39 @wn) ¥ Iy
o3 gU U Tiad A0 & & ®U o IugE fodl S 1 A awn H dd & fou

A Bipolar Junction Transistor (BJT) is used as a power control switch by biasing it in the cut-
off (OFF State) and saturation region (ON state). In ON state, for BIT

(2) MUR-IGV® qUT MUR-TIR! WY, GHI M@ TmEd g
Both the base-emitter and base-collector junctions are forward biased.
(b) 3MUR-ITuE MR TUNd § aul MHR-Ue! 4y uyfe® TmfiE 3

The base-emitter junction is forward biased and the base-collector junction is reverse

biased.

(¢) MUR-IGu® UY U § dUT MUR-TIG! WY 37 TuRid gl

The base-emitter junction is reverse biased and the base-collector junction is forward

biased.

(d) MYR-IGV® T MYR-TIG! U, GHI Uy TORE gl

Both the base-emitter and base-collector junctions are reverse biased.

Options :
1.a
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2.b
3.C
4.d

Question Number : 13 Question Id : 7715134708 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

The hysteresis power loss in a transformer ...................

(a) VTG aaR & Ty W IR W Ui @

Is directly proportional to the frequency of operation

(b) SRR 3G & WY FpAIIS &

Is inversely proportional to the frequency of operation

(c) VR MRS T & Ty IR R Ffw 3
Is directly proportional to the square of the frequency of operation

(d) WRICH &g 3 a7l & WY SR AU

Is inversely proportional to the square of the frequency of operation

Options:
1.a
2.b
3.c
4.d

Question Number : 13 Question Id : 7715134708 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

The hysteresis power loss in a transformer ...................

(a) TITGH 3gf o Ty 8 IR W e 3

Is directly proportional to the frequency of operation

(b) RITGH 3Mgf & Ty SHAT® ¢

Is inversely proportional to the frequency of operation

(c) TrETGH Mg & i & WY T TR W AUE |
Is directly proportional to the square of the frequency of operation

(d) Ve aafy & o & Wy agerAea §

Is inversely proportional to the square of the frequency of operation
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Options:
1.a
2.b
3.c
4.d

Question Number : 14 Question Id : 7715134709 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 9% DC DC URddd @ Ha® dicedl 250V DC g1 TRadd, @ie &1 WRU 400V R &Ral
2l @ YR Uad gl g @1 A9 G99 R 15 ARHNGUS &, df Haiud I Ragd ahd
@1 Tdl T

The Input voltage of a Boost DC DC converter is 250V DC. The converter feeds a load at
400V DC. The inductor current is continuous. If the ON time of switch is |5 microseconds,
Find the switching frequency of the chopper.

Options:
1.a
2.b
3.c
4.d

Question Number : 14 Question Id : 7715134709 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 9% DC DC URddd @ Ha® dicedl 250V DC g1 TRadd, @ie &1 WRU 400V R &Ral
2l @ YR Uad gl g @1 A9 G99 R 15 ARHNGUS &, df Haiud I Ragd ahd
@1 Tdl T

The Input voltage of a Boost DC DC converter is 250V DC. The converter feeds a load at
400V DC. The inductor current is continuous. If the ON time of switch is |5 microseconds,
Find the switching frequency of the chopper.

(a) 10kHz
(b) 25kHz
(c) 30kHz
(d) 40 kHz

Options :
1.a
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2.b
3.C
4.d

Question Number : 15 Question Id : 7715134710 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

yuft A, 41 B, 40ft AB GuI Uil D VAR ¥, ¥ 3= aEdl foual 2
Among Class A, Class B, Class AB and Class D amplifier, which has the highest efficiency

(a) it A/Class A
(b) 4uft AB/Class AB
(¢) 9 D/Class D
(d) guit B/Class B

Options :
1.a
2.b
3.cC
4.d

Question Number : 15 Question Id : 7715134710 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

yuft A, 41 B, 40ft AB GUI Uil D VAR #, ¥ 3= aEdl foual 2
Among Class A, Class B, Class AB and Class D amplifier, which has the highest efficiency

(a) it A/Class A
(b) 4uft AB/Class AB
(¢) 9 D/Class D
(d) guit B/Class B

Options :
1.a
2.b

3.cC
4.d

Question Number : 16 Question Id : 7715134711 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Yd® H 500 Gl At 6-4dig DC WA & &7 el & AU § WIg W gl Ve & B
Sfud foa 9 8, d 0.02 wh/pole B JIPT T BNl & R &F URUY @ 0.02
Upug | Wil AU U HaP d9ba 0.002 whipole &, &7 <l & IR-UR URd N
dicedl Bl WRFTH Hi

The field coils of a 6-pole DC generator each having 500 turns are connected in series. When
the field is excited, there is a magnetic flux of 0.02 wb/pole. If the field circuit is opened in
0.02 second and the residual magnetism is 0.002 wb/pole, calculate the average voltage which
is induced across the field terminals.

2) 3000V
b) 18000V
¢) 16200V
d) 18600V

— — — —

Options :
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 16 Question Id : 7715134711 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

Yd® H 500 doHi Ot 6-3dig DC WA & & defedl &1 4vi § Gis W ¢l W & B
Jafuid foam ST &, @ 0.02 wh/pole @ JE@I T Bt 8l 3R &F TRUY B 0.02
Yopug | WA 9 9 ARy deda 0.002 whipole &, &7 Gl & SR-UR NG 3
dicedl &1 TRbeH HY)

The field coils of a 6-pole DC generator each having 500 turns are connected in series. When
the field is excited, there is a magnetic flux of 0.02 wb/pole. If the field circuit is opened in
0.02 second and the residual magnetism is 0.002 wb/pole, calculate the average voltage which
is induced across the field terminals.

(a) 3000V
(b) 18000V
(c) 16200V
(d) 18600V
Options :
1.a

2.b

3.C

4.d
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Question Number : 17 Question Id : 7715134712 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

60 Icll @1 T dd BT 250V BT gws € eRE feur o g1 I @ Ah # @i

a6 B & URY H U0F 99 ¢ 4. 9. 99 291 §1 Udd U @1 iR Wiy 0.1

M § U1 uRuy H Gl Wikl 19 3 B URP® dNeRI 9RT B 87

A battery of 60 cells is charged from a supply of 250V. The cells are connected in series.

Each cell has an e.m.f. of 2 volts at the start of charging. Internal resistance of each cell is 0.1

ohm and there is an external resistance of 19 ohm in the circuit, what is the initial charging

current?

(a) 10A
(b) 5.2A
(¢) 5
(d) 13.16A
Options :
1.a

2.b

3.c

4.d

Question Number : 17 Question Id : 7715134712 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

60 Icll @ T 98 BT 250V @ gwrs @ R few o g1 I @ Ah # @i B

a6 B & URY H UIF 9 &I 4. 9. 99 291 §1 Udd U9 @1 offaRa By 0.1

M § U1 uRuy H Tl iRl 10 3 B URE® FNeRI 4R B 87

A battery of 60 cells is charged from a supply of 250V. The cells are connected in series.

Each cell has an e.m.f. of 2 volts at the start of charging. Internal resistance of each cell is 0.1

ohm and there is an external resistance of 19 ohm in the circuit, what is the initial charging

current?

(a) 10A
(b) 5.2A
(c) 5
(d) 13.16A
Options :
1.a

2.b

3.c

4.d
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Question Number : 18 Question Id : 7715134713 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U 20kW Ufe S 9 dis W 250V <fia dicedt & 9y &M &Rl g1 [ 39 qaiw
PR R, 90 701 o e BT UieTer HE: 0.05, 0.025 U1 100 HA {1 HHR H
307 9 [0.91.99 31 tRdbed &Y 99 7hH 3 dY-e F HigT Wil

A 20kW compound generator works on full load with a terminal voltage of 250V. The
armature, series and shunt windings have resistances of 0.05, 0.025 and 100 ohms respectively
as shown in Figure 3. Calculate the total e.m.f. generated in the armature when the machine
is connected short-shunt

| =80A
B
v A
0.025 ohm
I
100 ohms 0.050hm
v
faT 3/Figure 3
(a) 250V (b) 252V (c) 254.13V (d) 256.13V
Options :
1.a
2.b
3.cC
4.d

Question Number : 18 Question Id : 7715134713 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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U 20kW Ufe S 9 dis W 250V <fia dicedt & 9y &M &Rl g1 [ 39 qaiw
PR R, 90 701 o e BT UieTer HE: 0.05, 0.025 U1 100 HA {1 HHR H
307 9 [0.91.99 31 tRdbed &Y 99 7hH 3 dY-e F HigT Wil

A 20kW compound generator works on full load with a terminal voltage of 250V. The
armature, series and shunt windings have resistances of 0.05, 0.025 and 100 ohms respectively
as shown in Figure 3. Calculate the total e.m.f. generated in the armature when the machine
is connected short-shunt

| =80A
B
v A
0.025 ohm
I
100 ohms 0.050hm
v
faT 3/Figure 3
(a) 250V (b) 252V (c) 254.13V (d)256.13V
Options :
1.a
2.b
3.cC
4.d

Question Number : 19 Question Id : 7715134714 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

6 4dl dril 500 Y WK, 3 FeA 440V, 50Hz, W& HR & T WA R & 950 rpm B
YU T IRPA B

A 500 h.p, 3 phase 440V, 50Hz, induction motor with 6 poles has a speed of 950 rpm on full
load. Calculate the slip

(2) 5% (b) 2% (c) 4% (d) 6%

Options :
1.a
2.b


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

3.C
4.d

Question Number : 19 Question Id : 7715134714 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

6 4l drll 500 3y T, 3 Bl 440V, S0Hz, W HIR & T WU | & 950 rpm 3|
U BT IR B

A 500 h.p, 3 phase 440V, 50Hz, induction motor with 6 poles has a speed of 950 rpm on full
load. Calculate the slip

(2) 5% (b) 2% (c) 4% (d) 6%

Options:
1.a
2.b
3.C
4.d

Question Number : 20 Question Id : 7715134715 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Si, GaAs, GaN @1 3C-SiC Uerdl ¥ widd-gicd il & fou Suged oed §1 arf o
fou T fE 43 RIT (eV) &7

Si, GaAs, GaN and 3C-SiC materials have properties suitable for power device applications.
Among the four, which has the highest band gap (eV)?

(a) Si (b) GaAs (c) GaN (d) 3C-SiC

Options :
1.a
2.b
3.c
4.d

Question Number : 20 Question Id : 7715134715 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Si, GaAs, GaN @1 3C-SiC Uerdl ¥ Widd-gfcd it & fou Suged oed §1 arf o

foud wed offf® d AR (eV) B2

Si, GaAs, GaN and 3C-SiC materials have properties suitable for power device applications.
Among the four, which has the highest band gap (eV)?

(a) Si (b) GaAs (c) GaN (d) 3C-SiC
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Options:

1.a
2.b
3.C
4.d

GET IT ON
Google Play

Question Number : 21 Question Id : 7715134716 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

& 80dB s 1 314V/ms 50 U X &1 eI Fads & 9w e 100 9 9 1
st} v & A foran o ©1 39 Wad® @ Swn 10 kHz o angfa @l somawig aek & g
ﬁm%gwﬁaﬁﬁaﬁﬁ%ﬁmmﬁaﬁmmmaﬁﬁmﬂﬂwwm
A e’

A noninverting amplifier of gain 100 is realized using an operational amplifier of gain §0dB
and slew rate of 314V/ms. The amplifier is required to amplify sinusoidal signal of frequency

10 kHz. What 1s the maximum peak voltage of the sinusoidal signal that can be amplified
without slew rate induced distortion?

(a) S0mV (b) 100 mV (c) 150 mV (d) 200 mV

Options :
1.a
2.b
3.c
4.d

Question Number : 21 Question Id : 7715134716 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

@ 80dB Tl 741 314V/ms 9 & 31 IS YaHE @ 9w dve 100 T B @
ST VA @t T o o 31 39 WA & Swan 10 kHz @t i & wawn wad &
ﬁm%gﬂwﬁaﬁﬁﬂﬁﬁ$mmfﬁaﬁwmmaﬁﬁwﬁmﬂﬂwwm
GRS,

A noninverting amplifier of gain 100 is realized using an operational amplifier of gain 80dB
and slew rate of 314V/ms. The amplifier is required to amplify sinusoidal signal of frequency

10 kHz. What is the maximum peak voltage of the sinusoidal signal that can be amplified
without slew rate induced distortion?

(2) S0mV (b) 100 mV (c) 150 mV (d) 200 mV
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Options:

1.a
2.b
3.C
4.d

GET IT ON
Google Play

Question Number : 22 Question Id : 7715134717 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

ol Ul & TOEY dieedl U /3 e saica Smaf Sad Bl o faggd SRl
# R, 3 SRPIR, e BT pet A ¥ o) @, 7 uka @ o 31 uRum
e dicedt RTEY @ 8

The outputs of two inverters producing square waves of identical voltage and frequency

having a phase deference of n/3 radians are fed to two transformers whose secondary windings
are connected in series. What is resultant output voltage waveform?

(a) ¥/ zero (b) 913 TUI/sine wave
(c) 9 T G/ quasi square wave (d) dc dieedl/de voltage
Options:
1.a
2.b
3.¢
4.d

Question Number : 22 Question Id : 7715134717 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

o T & TOEY dieedl U /3 e Faikdl oafd Sad Bl o faggd Gaiedl
# R, Q) SRBIR, e BT pet A ¥ o) @, 7 uka @ o 31 uRum
FiiH diced] REY @ 8

The outputs of two inverters producing square waves of identical voltage and frequency

having a phase deference of n/3 radians are fed to two transformers whose secondary windings
are connected in series. What is resultant output voltage waveform?

(a) ¥H/zero (b) WIET T/sine wave
(c) T T S/ quasi square wave (d) dc dieedl/de voltage
Options :
1.a
2.b
3.¢
4.d
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Question Number : 23 Question Id : 7715134718 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

a1 a1 3§ 16 o i fpamtt 3 maiiga TS om 20A 31 7R 9@ §R 4R1 @I 3141 3

fean a1 3, 7 Ut o et ginft?

The anode current passing through a silicon controlled rectifier in the on state is 20A.

If its gate current is made half what will be anode current?

(a) 10A (b) 20 A (c) 5A (d) 30A
Options :
1.a
2.b
3.C
4.d

Question Number : 23 Question Id : 7715134718 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TN a1 A Ue R i yart 3§ warfed s 4R 20A 31 AR 39@!1 gR 4R1 @1 3141 7

fe e 3, A TS SR foar g

The anode current passing through a silicon controlled rectifier in the on state is 20A.

If its gate current is made half what will be anode current?

(a) 10A (b) 20 A (c) 5A (d) 30A
Options :
1.a
2.b
3.cC
4.d

Question Number : 24 Question Id : 7715134719 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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fot 4 7 et wivwy & v e gifore” a1 v dun e aifirreoe fommn mar g1 10 kHz ®
e e R R & SR 3 fad & & e |

The turn on and turn off characteristics of a power fransistor in a switching circuit are
shown in Figure 4. Find the average power dissipation due to switching when

operated at 10 kHz.
_ . Vee A A
c A : : T
80V : sy
| 4A 4A :
N | <1250 >] ¢ | <1258 > | t
Turn on Turn off
fer 4/fFigure 4
(a) 1W (b) 2W (c) 3W (d) 4W
Options :
1.a
2.b
3.C
4.d

Question Number : 24 Question Id : 7715134719 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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fot 4 7 et wivwy & v e gifore” a1 v dun e aifirreoe fommn mar g1 10 kHz ®
e e R R & SR 3 fad & & e |

The turn on and turn off characteristics of a power fransistor in a switching circuit are
shown in Figure 4. Find the average power dissipation due to switching when

operated at 10 kHz.
i . Vee /‘i—
c A : : T
| 44 4A i J/
N | <1250 >] ¢ | <1258 > | t
Turnon Turn off
fer 4/fFigure 4
(a) 1W (b) 2w (c) 3W (d) 4w
Options :
1.a
2.b
3.c
4.d

Question Number : 25 Question Id : 7715134720 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

220V, 50 Hz 99 & foiw &:-dhal o 1 ISl &1 HfH 3gfa &1 gar v
Find a ripple frequency of a six-phase half-wave rectifier for 220 V, 50 Hz input
(a) 150 Hz (b) 300 Hz (c) 50 Hz (d) 600 Hz
Options :

1.a
2.b
3.¢
4.d

Question Number : 25 Question Id : 7715134720 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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220V, 50 Hz a9 & folt &:-dbal o 1 [Gdr) &1 HfF 3gfa &1 uar o
Find a ripple frequency of a six-phase half-wave rectifier for 220 V, 50 Hz input
(a) 150Hz (b) 300 Hz (c) 50 Hz (d) 600 Hz
Options:

1.a
2.b
3.c
4.d

Question Number : 26 Question Id : 7715134721 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

%Dcmﬁaﬁﬁaﬂmaﬂzﬁ%mw%gﬁﬁﬁwmmﬂw

A DC shunt motor is running at constant speed. If its field winding is suddenly opened, what
will happen?

(a) Al &1 9 &R Q%WSpeed of the motor will remain constant

(b) HieX e Bl ST/ The motor will get locked

(c) HI® &1 a7 S iM/Speed of the motor will reduce

(d) HI® &1 97 Wad@ €Y ¥ g¢AM/Speed of the motor will become dangerously high

Options :
1.a
2.b
3.c
4.d

Question Number : 26 Question Id : 7715134721 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 DC e A} R o1 R 9d G g1 FR 3@ &7 docl @l Jbdd ial o, df &
U

A DC shunt motor is running at constant speed. If its field winding is suddenly opened, what
will happen?

(a) A T 97 &R T_E‘TWSpeed of the motor will remain constant

(b) HieX 3ffidg gl ST/ The motor will get locked

(c) HIER BT &7 P giMl/Speed of the motor will reduce

(d) HIR BT o7 @@ &Y Y dg7/Speed of the motor will become dangerously high

Options :
1.a
2.b
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3.C
4.d

Question Number : 27 Question Id : 7715134722 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

SCR & Vg-Ig ARl & 1@ 160 V/A &1 ¥R d@lae Jfod &7 & 0.8 W d@ dfia
W 9, d §R 4N @ SHedd Y4d A9 &1 Tal aml

The Vg-Ig characteristics of an SCR has slope of 160 V/A. Find the maximum value of gate
current possible if the instantaneous power dissipation is to be limited to 0.8W

(a) 110 mA (b) 220 mA (c) 71 mA (d) 31 mA

Options:
1.a
2.b
3.c
4.d

Question Number : 27 Question Id : 7715134722 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

SCR & Vg-Ig ARl & 1 160 V/A &1 R diiae fed &7 & 0.8 W @ i
W 9, d §R 4N P SHedd Y4d 99 &1 gal ql

The Vg-Ig characteristics of an SCR has slope of 160 V/A. Find the maximum value of gate
current possible if the instantaneous power dissipation is to be limited to 0.8W

(a) 110 mA (b) 220 mA (c) 71 mA (d) 31 mA

Options :
1.a
2.b
3.C
4.d

Question Number : 28 Question Id : 7715134723 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

PWM WiddiHl & UH-dal Higed ¥ FYdd ogRt & Fepid G o 9hd € 6R We
75| ] — & HH fobar o B

In single-phase modulation of PWM inverters, the lowest harmonic can be eliminated if the
pulse width is made equal to

(a) 30° (b) 0° (c) 120° (d) 60°

Options :


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.c
4.d

Question Number : 28 Question Id : 7715134723 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

PWM UiddiHl & Ud-dal Higed § FHdd Tonghl & Hepid fear o 9obdl § R We
5 1 7 [ A {51 S gl

In single-phase modulation of PWM inverters, the lowest harmonic can be eliminated if the
pulse width is made equal to

(a) 30° (b) 0° (c) 120° (d) 60°

Options :
1.a
2.b
3.cC
4.d

Question Number : 29 Question Id : 7715134724 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

YERE ¥ & U bal O @ RPER @ a9, R THvm @ 9y AR gl

PR 10 /6 @I § qu i ¥ad died R & gl de PR dieedr @1 g

AH fba 82 (3 @1 THd 1.738)

The input of a single phase full wave rectifier made of thyristors is a sine wave with peak

value Vm. The firing angle is n/6 radians and the load ensures continuous conduction. What
is the average value of dc output voltage? (Square root of 3 is 1.73)

(a) 0.31 Vm (b)0.27 Vm (c) 0.55Vm (d) 0.62 Vm

Options :
1.a
2.b
3.C
4.d

Question Number : 29 Question Id : 7715134724 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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ERER ¥ & @ bl O @@ RFeR @1 Fdw, RRR SH vm & 9y 9EART 3
R B0 /6 @ § a1 @S Tdd 9o 9T & Bl de P dieedr &1 i
TH o 82 (3@ TYd 173 8)

The input of a single phase full wave rectifier made of thyristors is a sine wave with peak
value Vm. The firing angle is 1/6 radians and the load ensures continuous conduction. What
is the average value of dc output voltage? (Square root of 3 is 1.73)

(a) 0.31 Vm (b)0.27 Vm (¢) 0.55Vm (d) 0.62 Vm

Options :
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 30 Question Id : 7715134725 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

72A @ dc URT ¥ AR B Fuidd HH W a1 1800 pm R I M IdGD, IR B
Yl 2 d §d uRoy fURy § @ qediiee 9 360V 3d@d $R l 4.8A T de URT T
Fulidd B U 1200 pm R PH & Y b Gal IRIY dieed I g

A synchronous generator develops 360V in open circuit condition when the rotor is energized
by dc current of 7.2A and the prime mover moves the rotor at 1800 rpm. How much open
circuit voltage will develop when energized by dc current of 4.8A and rotated at 1200 rpm?

(a) 300V (b) 160V (c) 150V (d) 200V
Options :
1.a
2.b
3.cC
4.d

Question Number : 30 Question Id : 7715134725 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

72A @ de ¥R ¥ YRR B! FHuigd o W aU 1800 ipm R @ M IAGH, AR B
YA § o go Ry fufa § @ qenis 9FF 360V Sad @Rl gl 4.8A @ de URT §
Fuidd B U1 1200 pm R PH & Y b Gal IRy dicedl I g

A synchronous generator develops 360V in open circuit condition when the rotor is energized
by dc current of 7.2A and the prime mover moves the rotor at 1800 rpm. How much open
circuit voltage will develop when energized by dc current of 4.8A and rotated at 1200 rpm?

(a) 300V (b) 160V (c) 150V (d) 200V

Options :
1.a
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Addal2i7

2.b
3.C
4.d

Question Number : 31 Question Id : 7715134726 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Th WOl 1 fIRF THidRy s +3s+9 =09 fear 1 §1 WOl &1 Upld & g2

The characteristic equation of a system is given by s + 35 + 9 = 0. What is the nature of the
system?

(a) 3FadHICd/undamped (b) T 3qHfEd/under damped
(c) Wifd® HaHe/critically damped (d) 3ifd 2f@Hfed/over damped
Options :
1.a
2.b
3.¢C
4.d

Question Number : 31 Question Id : 7715134726 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Th WOl &1 fIRF THidRy s +3s+9 = 09 fear /1 §1 Womell &1 Udhid & g2

The characteristic equation of a system is given by s + 3s + 9 = 0. What is the nature of the
system?

(a) 3HaHCd/undamped (b) T 3qHfEd/under damped
(c) Sifd® HaHe/critically damped (d) 3ifd 3f@Hfed/over damped
Options :
1.a
2.b
3.¢C
4.d

Question Number : 32 Question Id : 7715134727 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

o SRl (RLC URUY) IR9Y & o W Widd 0id ...... 2l
The power factor at resonance of a parallel resonant (RLC circuit) circuit is

(a) 1 (b) <1 (c)>1 (d) 0
Options:

1.a


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

2.b
3.C
4.d

Question Number : 32 Question Id : 7715134727 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

md SRl (RLC URTY) UROY & ofe R Wfdd e ...... 2l

The power factor at resonance of a parallel resonant (RLC circuit) circuit is
(a) 1 (b) <1 (c)>1 (d) 0

Options :
1.a
2.b
3.C
4.d

Question Number : 33 Question Id : 7715134728 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ge fiae & vl dear @ ... 87 ¥ vaIftd ok SHis & Aed ¥ i &t

In a shunt regulator, output voltage is regulated by virtue of the zener diode being operated in
the .......ooveeneee. region

(2) SpHI 4o/ Reverse break down (b) 3%/Forward
(c) Hqw/Saturation (d) 3fd@/Cut off
Options :
1.a
2.b
3.¢C
4.d

Question Number : 33 Question Id : 7715134728 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g e # P dieed @ ... & ¥ Yo WR SUs & AW ¥ b @

Wk 31

In a shunt regulator, output voltage is regulated by virtue of the zener diode being operated in

the ... region

(a) JohHl ¥oH/Reverse break down (b) 3/ Forward
(c) HJW/Saturation (d) 3fdd/Cut off
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Options:
1.a
2.b
3.c
4.d

Question Number : 34 Question Id : 7715134729 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

06 -G TRay -y ("WR-me) iR e e wa 9
In an H-bridge circuit, what is the significance of the "shoot-through" condition?
(a) 39 Rufa @l Hehla owd ¢ e wa Wy ol oforer 3w g1
It refers to the condition where all transistors are off simultaneously.

(b) 77 74§11 3 7a U @I TP AR B Gl chorex & T 1Y T g1 <81 3l

It occurs when both transistors on one leg of the bridge conduct simultaneously.
(c) 3 Rl V1 YRT B fem i e g1 o Jhell|

It 1s the situation when the current direction cannot be changed.

(d) 39 fRufa 3! Hafla wxedt ¢ 78 SwR & AR-TR i dieea 91

It refers to excessive voltage spikes across the load.

Options :
1.a
2.b
3.c
4.d

Question Number : 34 Question Id : 7715134729 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T TS ROy -y ("I R @1 3 e 87
In an H-bridge circuit, what is the significance of the "shoot-through" condition?
(a) 39 T ! Wahila ol § e e Ty wdt oferee ot 3l
It refers to the condition where all transistors are off simultaneously.
(b) 77 T4 1S 7E U B TP AR B A chore & TH 1Y T 3 @I A
It occurs when both transistors on one leg of the bridge conduct simultaneously.
(c) 8 FRUfd W1d YRT ol Tem i e g1 ol Tl
It is the situation when the current direction cannot be changed.

(d) 39 fRufa 3! Hefia et § 78 SwR & 9R-1R sl A 31

It refers to excessive voltage spikes across the load.

Options :
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1.a
2.b
3.c
4.d

Question Number : 35 Question Id : 7715134730 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

¢ 99 39 Fifce sEe W @ uifea & wifta Fefefed § o9 o 2

Which of the following represent the response of a critical damped system to unit step input?
(a) (1—e ™1 +w,t)) (b) 1 — cos(wyt)
(c) (™) (1

Options:

1.a

2.b

3.c

4.d

Question Number : 35 Question Id : 7715134730 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

PTG Fo¥ 39 Fifde Saved TuId @t uiafed @1 vofiia Fefafed § o8 o &

Which of the following represent the response of a critical damped system to unit step input?
(a) (1—e ™1 +wyt)) (b) 1 — cos(wyt)
(c) (e™*n%) (d)1

Options :

1.a

2.b

3.cC

4.d

Question Number : 36 Question Id : 7715134731 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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4id feu MU (R 5) ue-oar qui d faggd WRd @ oWl

Consider a single-phase full wave inverter given below (Figure 5):

+
Vdc‘—_::

Ty %m v, 2% %DZ
- g +—— B
A — Load
Y A D3 T4y AD4

= 5/Figure 5
T @ 4R BY, IR 9N & v g e ww L. 2

For a purely inductive load, the correct switching sequence for load current is:
(a) DiDa, TiTz, D3sDy, T5Ty (b) T1T4, D1Dy, T7T3, D:Ds
(¢) TiTz, DiDy, T5T4, D3Dy (d) DiDy, T1T4, DyDs, T2T;
Options :
1.a
2.b
3.c
4.d

Question Number : 36 Question Id : 7715134731 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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4id feu MU (R 5) ue-oar qui d faggd WRd @ oWl

Consider a single-phase full wave inverter given below (Figure 5):

+

AL

C ==

Ty %m v, 2% %DZ
- g +—— B
A >— Load
Y A D3 T4y ADA

= 5/Figure 5
T @ 4R BY, IR 9N & v g e ww L. 2

For a purely inductive load, the correct switching sequence for load current is:
(a) DiDa, TiTz, D3sDy, T5Ty (b) T1T4, D1Dy, T7T3, D:Ds
(¢) TiTz, DiDy, T5T4, D3Dy (d) DiDy, T1T4, DyDs, T2T;
Options :
1.a
2.b
3.c
4.d

Question Number : 37 Question Id : 7715134732 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

B-fig s o oy Fefifea 4 oF @ T &
Which of the following is NOT true regarding three point starter
(2) 38 We qu1 WD AR URH &R & U Wi far o wodl g
It can be used to start shunt and compound motors
(b) D fawicht a1em & GRH Tg Aiex Bl QWad @l &
It protects the motor during sudden power interruption
(c) SR oRRYfl & GRA T8 Al B e @d @
It protects the motor during overload condition
(d) AIX B wwmg § fwfed g9 @1 e & fo 9 fraw G o e g

Speed control can be exercised without risk of disconnecting motor from supply
Options :
1.a

2.b
3.cC
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4.d

Question Number : 37 Question Id : 7715134732 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

B-fdg sy & fou Feffea & o7 @& T @
Which of the following is NOT true regarding three point starter
(a) 38 e qU1 TS Al URY T & [0 W T 1 9 §
It can be used to start shunt and compound motors
(b) NGBS faoicll a1 & GRH T8 Al S iad @ §
It protects the motor during sudden power interruption
() 3MfouR URRYfEl & GRM T8 AR & [Wid @ 8
It protects the motor during overload condition
(d) HieY & T Y fGwfed §F & Wi & o o f & o1 wedl §

Speed control can be exercised without risk of disconnecting motor from supply

Options :
1.a
2.b
3.c
4.d

Question Number : 38 Question Id : 7715134733 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

UF 3-ma JH-URade § BERET B0 120° § a1 GaT S 110° gl Ud® SCR aul
il SMS ...... & fou HHE: A B gl

In a 3-phase semi-converter the firing angle is 120° and extinction angle is 110°. Each SCR
and freewheeling diode conduct respectively for

(a) 60°,50° (b) 30°, 50° (c) 60°, 10° (d) 30°, 40°

Options :
1.a
2.b
3.c
4.d

Question Number : 38 Question Id : 7715134733 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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UF 3-mal dH-URade # BERE B0 120° § dU G4 S 110° §1 Wd® SCR aul
Thicic SMIS ...... & fou w9 A B gl

In a 3-phase semi-converter the firing angle is 120° and extinction angle is 110°. Each SCR
and freewheeling diode conduct respectively for

(a) 60°, 50° (b) 30°, 50° (c) 60°, 10° (d) 30°, 40°

Options:
1.a
2.b
3.C
4.d

Question Number : 39 Question Id : 7715134734 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TH 230V DC H&H &1 R Uik 0.5 3 31 R quf WU iR 4R 10A §, @
T A} & ®U H o & R R 0,490,970 31 9 7|

A 230V DC machine has an armature resistance of 0.5 ohm. If the full load armature current
is 10A, find the induced e.m.f. when the machine acts as a motor.

(a) 225V (b) 235V (c) 220V (d) 240V

Options :
1.a
2.b
3.cC
4.d

Question Number : 39 Question Id : 7715134734 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Uh 230V DC B & SR Wily 0.5 31 g1 3R 00 'R0l SR 4RT 10A &, df
A9 AR & ©U § o1 & | R [4.90.99 BT Gar )

A 230V DC machine has an armature resistance of 0.5 ohm. If the full load armature current
is 10A, find the induced e.m.f, when the machine acts as a motor.

(a) 225V (b) 235V (c) 220V (d) 240V

Options :
1.a
2.b
3.C
4.d
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Question Number : 40 Question Id : 7715134735 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

U9 g T T & ER 0 H 7
The form factor of a pure sine wave is .........

) 0

) 1.00
) Ll
) 141

(a
(b
(c
(d

Options :

1.a
2.b
3.c
4.d

Question Number : 40 Question Id : 7715134735 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

U9 g T T & ER 0 H 7
The form factor of a pure sine wave is .........

) 0

) 1.00
) Ll
) 141

(a
(b
(c
(d

Options :

1.a
2.b
3.c
4.d

Question Number : 41 Question Id : 7715134736 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185
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FHIY I H oH Tgl 87

Which of statements I to I given below are true?

. T DC AR ¥ ¥ hoed 4R DC § a1 AR $ecd YR AC &

In a DC motor stator winding current is DC and rotor winding current is AC
I Th IRV A} # ®eX qUl YR, &l Poed URT AC B

In induction motor, both stator and rotor winding current are AC
1. qod@red A9H ¥ ¥R $ocd 4R AC § Ul AR Heed 4R DC B

In synchronous machine, stator winding current is AC and rotor winding current is DC

(a) LI (b) L, III (c) IL, III (d) L, IL, III

Options :
1.a
2.b
3.C
4.d

Question Number : 41 Question Id : 7715134736 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
G I |

Which of statements I to III given below are true?

. U& DC Hi® § ¥ $3aH YR DC 5 1 YR PseH 4RI AC &

In a DC motor stator winding current is DC and rotor winding current is AC
L & WU AR § R q AR, GHF Fged URT AC §

In induction motor, both stator and rotor winding current are AC
1. Jedncd TRH o %X $sad 4RI AC & adl IR ded ¥R DC &

In synchronous machine, stator winding current is AC and rotor winding current is DC

(a) LI (b) L IIT (c) IL, III (d) L 11, 11

Options :
1.a
2.b
3.c
4.d

Question Number : 42 Question Id : 7715134737 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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U T ¥ 4 B R @ uERER & Wy 4 9dd Pl § o8 w6

Which of the following is true regarding behaviour of a thyristor as junction temperature
increases?

a) 3 AU dicedl H 4 Bl 8/Forward blocking voltage increases
b) IehH R diceal H g Tl 8/Reverse blocking voltage increases
) &0 4RT H @erdt Eﬁ'cﬁ ?fReverse leakage current decreases

JahH
) 3w ¥ ¥ o1 **t 7/ None of the above

Options :

(
(
(c
(d

1.a
2.b
3.c
4.d

Question Number : 42 Question Id : 7715134737 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U T ¥ 4 EH R @ uERER & Wy 4 9dfd Pl § o8 w6

Which of the following is true regarding behaviour of a thyristor as junction temperature
increases?

a) 3 AU dicedl H 4 Bl 8/Forward blocking voltage increases
b) IehH R diceal H g Tl 8/Reverse blocking voltage increases
) &0 4RT H @erdt Eﬁ'cﬁ ?fReverse leakage current decreases

JahH
) S ¥ ¥ o5 **t 7/ None of the above

Options :

(
(
(c
(d

1.a
2.b
3.c
4.d

Question Number : 43 Question Id : 7715134738 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

TG Sra i e araY (e 6) % @ e 100A F1 s dteea 130V 31 @ oA il @ o
i 1 AT o5 e, ) ot 15W e OW 21 Sw&m @1 fa o7 g7
In a balanced three phase circuit (Figure 6), the line current is 100A and line voltage

is 130V. When power is measured using two wattmeter methods the readings are
15W and OW. What is the power factor of the load?

R [rn-\l\ — I
I

5

|

76

(BN
N

fe BiFiqure 6

(a) 0500 (b) 0577 (c) 0.866 (d) 1.00

Options :
1.a
2.b
3.c
4.d

Question Number : 43 Question Id : 7715134738 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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TG Sra i e araY (e 6) % @ e 100A F1 s dteea 130V 31 @ oA il @ o
i 1 AT o5 e, ) ot 15W e OW 21 Sw&m @1 fa o7 g7
In a balanced three phase circuit (Figure 6), the line current is 100A and line voltage

is 130V. When power is measured using two wattmeter methods the readings are
15W and OW. What is the power factor of the load?

R [:l\ >
7a—

VRY

5

76

)

(B
W

fe BiFiqure 6

(a) 0500 (b) 0577 (c) 0.866 (d) 1.00

Options :
1.a
2.b
3.c
4.d

Question Number : 44 Question Id : 7715134739 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

iRt ofafy T & W1y S Bifc gics &1 ofad Bad a1 57

What is the transfer function of a zero order hold with sample period T?

et 114

1-e 1_E-ST

_ ST 1
: b 1-e 0w O

(a)

Options :
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1.a
2.b
3.c
4.d

Question Number : 44 Question Id : 7715134739 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
wfeee 3y T & 91y A Bife gies &1 Sfald Bad a1 g7

What is the transfer function of a zero order hold with sample period T?

1-e~ST T {-p~ST
(B b 1-e © = @5
Options:
1.a
2.b
3.¢
4.d

Question Number : 45 Question Id : 7715134740 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Addal@7

e 7 8 foan o e e & for 01, /9V, & &0 ¥ TG are o @ g7

For the current regulator circuit given in Figure 7, what is the line regulation defined

as dl,/dv;?
G @
1
VI.
fe 7IFigure 7
) o) — () @
a) — c)— —
Rz (R+Rg) Ry Rz
Options :
1.a
2.b
3.¢C
4.d

Question Number : 45 Question Id : 7715134740 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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e 7 8 foan o e e & for 01, /9V, & &0 ¥ TG are o @ g7
For the current regulator circuit given in Figure 7, what is the line regulation defined

as dl,/dv;?
o
3
V
fe 7IFigure 7
1 Ry Ry,
a) — b c)— d)—
Ul Ulrn Chy Uy
Options :
1.a
2.b
3.C
4.d

Question Number : 46 Question Id : 7715134741 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T9-Yq N difea AieX d, oRadl PWM SMEf & SN 3 qo H &R PWM G &

U & § g9 7 @ g

What is the primary drawback of using a constant PWM frequency in an H-bridge driving a

motor compared to using variable PWM frequency?

a) fadl o widd g9 H 9i&/Increased power losses in the switches
b) IR & qa Mgl H Hl/Reduced motor torque

(
(
(c) WIg Marw ¥ Hi3R,/Difficulty in shoot-through prevention
(d) difd @ Fga0 diml/Limited speed control range

Options :
1.a
2.b
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3.C
4.d

Question Number : 46 Question Id : 7715134741 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T9-37 §R diod AR ®, uRad PWM R & ST 3 ge § RR PWM AR &
W & § g9 7 @ g2

What is the primary drawback of using a constant PWM frequency in an H-bridge driving a
motor compared to using variable PWM frequency?

a) f&dl # widd g9 H 9i&/Increased power losses in the switches
b) X & q U H HAl/Reduced motor torque

(
(
(c) WIg Marw # Hi3R/Difficulty in shoot-through prevention
(d) Wi 9 Faa0 Wiml/Limited speed control range
Options :

1.a

2.b

3.¢C

4.d

Question Number : 47 Question Id : 7715134742 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

IGBT @I ffid &’ & fU [ged Gobd ... . 8/The signal used to control an IGBT is

(a) &R YRI/Gate current

(b) &R ¥ Ji® dicedl/Gate to emitter voltage

(c) ¥IIEl YRI/Collector current

(d) ¥Iel ¥ Jouid dleedl/Collector to emitter voltage

Options :
1.a
2.b
3.c
4.d

Question Number : 47 Question Id : 7715134742 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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IGBT &I fufid &4 & U fgdd Yabd .... §/The signal used to control an IGBT is

(a) &R YRI/Gate current

(b)ER ¥ JoGeid dleedl/Gate to emitter voltage

(c) YUl YRI/Collector current

(d) ¥Iel ¥ Jouid dieedl/Collector to emitter voltage

Options:
1.a
2.b
3.C
4.d

Question Number : 48 Question Id : 7715134743 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

39 1 URadH aur R 0y UrEd & U BUEe GRRU & 9 U QR0 o

o1 e & ded # Ffafed § a9 @ 3

Which of the following is true about sensitivity of a feedback control system with negative

feedback to changes in forward and feedback path parameters?

a) T @ AU THgaH ljﬂl’EﬁIEqually sensitive to both
b) Gl & iU giel/ Insensitive to both

(

(

(c) 3 UY Yrgcl & U +ifid TTEl/More sensitive to forward path parameters

(d) TTRU Y Hrel & foU afid AR/ More sensitive to feedback path parameters

Options :
1.a
2.b
3.C
4.d

Question Number : 48 Question Id : 7715134743 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

% ¥ URadl a1 RO oy UrEel & fU BUEe TRRU & 9 Uh QR0 S o
o Ped & Yoo # Fffed # 9 Wl @7

Which of the following is true about sensitivity of a feedback control system with negative
feedback to changes in forward and feedback path parameters?

a) G felU THaHH ljﬂl’EﬁIEqually sensitive to both
b) Gl & U gHUEl/ Insensitive to both

(

(

(c) 37 Uy Wrdl & fou 3ifid TEl/ More sensitive to forward path parameters

(d) TP Uy Wrel & foU afid A/ More sensitive to feedback path parameters
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Addal2i7

Options:
1.a
2.b
3.c
4.d

Question Number : 49 Question Id : 7715134744 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ot & Taifora & o Sriel @t 6kV @1 @t oepH diecdl &1 Wg B3 ¢ | SHIS] @1 oahH! &R
ST U1 20mA 741 25mA g1 57 71 & WieRive! @l e Srive] & HR-UR S o Wb §
it d diced B §HH €Y H alc?

Two power diodes connected in series have to withstand a total reverse voltage of 6kV. The
reverse leakage currents of the diodes are 20mA and 25mA respectively. What values of
resistors respectively can be put across the diodes so that they share voltage equally?

(a) 100K, 80K
(b) 100K, 87.5K
(c) 100K,120K
(d) 100K, 125K

Options :
1.a
2.b
3.c
4.d

Question Number : 49 Question Id : 7715134744 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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3l i 2 i ST 1 6k ) e ol e 1 e T 31 e ) e e
SR1 FAR: 20mA T 25mA 31 5 AT 3 WoR1ere! 1 972 SRS o SRR cIel off ¥ §
) R G e R 1 R R o )

Two power diodes connected in series have to withstand a total reverse voltage of 6kV. The
reverse leakage currents of the diodes are 20mA and 25mA respectively. What values of
resistors respectively can be put across the diodes so that they share voltage equally?

a) 100K, 80K
b) 100K, 87.5K
¢) 100K,120K
d) 100K, 125K

—— | p— g—

Options:
1.a
2.b
3.C
4.d

Question Number : 50 Question Id : 7715134745 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

80 TRI & Y Us Wil 4a® 9q el diceard! @i famr 4 Yierx 2.5 dHiex 81 Juau
&1 URRIE 15000 ot B aur SickTa # 3fdE B9 150 mWh/m2 g1 el 300V 3w
T R U H I fa8ud 99 omgel e 82

A permanent magnet moving coil volt meter with 80 turns has a dimension of 4cm x 2.5cm.
The resistance of the instrument is 15000 ohm and the flux density in the gap is 150 mWb/m?2.
What is the deflecting torque produced in the instrument, when 300V is applied to its
terminals?

(a) 24x10-°N-m
(b) 2.4x10-°N-m
(c) 24x10-N-cm
(d) 2.4x10-N-cm

Options :

1.a
2.b
3.c
4.d

Question Number : 50 Question Id : 7715134745 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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80 TRl & Y Us Wil 8% 90 Dol diecard @I famm 4 Yt x 2.5 iR 81 U
@1 URcRIE 15P00 i & aur SiRa ¥ HER B9 150 mWh/m2 81 el § 300V 3w
B R B H I0A (98US a1 gyl foa 82

A permanent magnet moving coil volt meter with 80 turns has a dimension of 4cm x 2.5cm.
The resistance of the instrument is 15000 ohm and the flux density in the gap is 150 mWb/m2.
What is the deflecting torque produced in the instrument, when 300V is applied to its
terminals?

(a) 24x10°N-m
(b) 2.4x10-N-m
(¢) 24x10-N-cm
(d) 2.4x10-°N-cm

Options :

1.a

2.b

3.c

4.d

Question Number : 51 Question Id : 7715134746 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TR YERER B qal § e T UERER & fou FEfied § o1 W 8

Which of the following are true about a gate turn off thyristor compared with normal thyristor?

(a) 38H TP I HRIfe e W &

It has a highly inter digited gate structure
(b) 399 UTRER® 71 B/1t has regenerative gate
(c) 39 THIE & UM TP HfaRad n+ T &

It has an additional n+ layer near the anode
(d) 3 & fo 38 w9 ofie w91 e fOR W 9 9 @
It requires a larger gate trigger pulse to turn on
Options:
1.a
2.b
3.C

4.d

Question Number : 51 Question Id : 7715134746 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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7

TR YERER B qal § e e UEReR & fou Fefied § oF w8

Which of the following are true about a gate turn off thyristor compared with normal thyristor?

() 39 TP I SRARE T W 7

It has a highly inter digited gate structure

(b) 39H TT%ERS 7T 3/1t has regenerative gate

(c) 398 T & "W @ e n+ W 3

It has an additional n+ layer near the anode

(d) 3 & fo 38 1@ ofie §91 e R W 9 v @

It requires a larger gate trigger pulse to turn on

Options :
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 52 Question Id : 7715134747 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

T SAIE & Iebdl TN B 4us § 791 SAIS YRT $ HaUad W 24A/us § d FHIIQ
Tel Bl 3 ofebdl W Ay @l &2

The reverse recovery time of a diode is 4us and the rate of fall of diode current is 24A/us and
the recovery is abrupt. What is the reverse recovery charge?

(a) 6uC

Options :
1.a
2.b
3.c
4.d

(b) 48uC

(c) 96uC

(d) 192uC

Question Number : 52 Question Id : 7715134747 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

Th SIS & Iobdl TENW D1 4us § 791 SAIS YRT &1 U @ 24A/us § d AW
Teql Bl 31 ogebdl W 3dy &1 &2

The reverse recovery time of a diode is 4us and the rate of fall of diode current is 24A/us and
the recovery is abrupt. What is the reverse recovery charge?

(a) 6ucC

Options :
1.a
2.b

(b) 48uC

(c) 96uC

(d) 192uC
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3.C
4.d

Question Number : 53 Question Id : 7715134748 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

el TR 3 (g, YT SSFIRR , T He ST Baaier & 1 uHid 37
What is the effect of the phase lead compensator on the gain cross-over frequency
Wqc and bandwidth w,?

(a) &Ml T5et @/Both are increased.

(b) wqc Fedt & Al Wy Tedt By is increased but w, decreased.

(C) Wy Tedt T Te Wy Taal By i decreased but wy increased.
(d) @i gedt @/Both are decreased.

Options :
1.a
2.b
3.c
4.d

Question Number : 53 Question Id : 7715134748 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

el TR 3G g U1 SRR 0, R Gl ST Wi 1 a0 0a 37
What is the effect of the phase lead compensator on the gain cross-over frequency
Wge and bandwidth w,?

(a) @i et 3/Both are increased.

(b) W Tl 3 A W, TT Bl IS increased but w, decreased.

(C) wqe et 3 A W, Ted Bwg, is decreased but wy increased.
(d) @i gecdt g/Both are decreased.

Options :
1.a
2.b
3.cC
4.d

Question Number : 54 Question Id : 7715134749 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Iid femm U oRuy (R 8) H, T 9 ofey § Ul UG Ha® Y| t=0 W fad d¢

g T t=100us W Welll t=200us W Wa ¥ g el fodt gri

In the circuit shown (Figure §) all the elements are ideal and the initial conditions are zero.
The switch is closed at t=0 and is opened at t=100us. What will be energy stored in the inductor

at t=200us?

100V =

L[)ll

(a) 0.25] (b)0.57

Options:
1.a
2.b
3.C
4.d

49 8/Figure 8

(c) 1]

100uH

GET IT ON
Google Play

Question Number : 54 Question Id : 7715134749 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Iid femm U oRuy (R 8) H, T 9 ofey § Ul UG Ha® Y| t=0 W fad d¢

g T t=100us W Welll t=200us W Wa ¥ g el fodt gri

In the circuit shown (Figure §) all the elements are ideal and the initial conditions are zero.
The switch is closed at t=0 and is opened at t=100us. What will be energy stored in the inductor

at t=200us?

100V =

L[)ll

(a) 0.257 (b) 0.57

Options:
1.a
2.b
3.C
4.d

49 8/Figure 8

(c) 1]

100uH

GET IT ON
Google Play

Question Number : 55 Question Id : 7715134750 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

10 3-ffe HM DR @l fu-Taiy &1 SW Hd §U dieud fbdr 1 g1 Udd fGau-
T @ R0 e 100s 31 3-Fe I PR @1 Afiea g My MHz |

gl

A 3-Dit ripple counter is designed using flip-flops. Propagation delay of each flip-flop is 10
ns. The maximum clock frequency in MHz of a 3-bit ripple counter is

(2) 50.0 MHz (b) 33.3 MHz

Options :
1.a
2.b
3.C
4.d

(c) 12.5 MHz

(d) 25.0 MHz

Question Number : 55 Question Id : 7715134750 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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T 3-fae S SR @I RU-TIU & N $d g¢ HNSIcqd il 1 81 vdd k-
I & YR f3cd 1005 21 3-de I FER 1 4f¥Hdd Frg Mm@ MHz §
8l

A 3-Dit ripple counter is designed using flip-flops. Propagation delay of each flip-flop is 10
ns. The maximum clock frequency in MHz of a 3-bit ripple counter is

(a) 50.0 MHz (b) 33.3 MHz (c) 12.5 MHz (d) 25.0 MHz

Options:
1.a
2.b
3.C
4.d

Question Number : 56 Question Id : 7715134751 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

few o gt & anyfe srefara@ gfad @ @ S MOSFET a1 BIT &1 wafaw of ! waiford
GRGI

Which of the given device is a modern semiconductor device that combines the best
qualities of MOSFET and BIT?

Options :
1.a
2.b
3.c
4.d

Question Number : 56 Question Id : 7715134751 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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feu U afda & snyfe srsfara qfod HiF § St MOSFET a1 BIT & walw o @t Gaiford
GRGIE

Which of the given device is a modern semiconductor device that combines the best
qualities of MOSFET and BIT?

(a) SCR
(b) Trew! smats/ Schottky diode
(c) IGBT
(d)GTO

Options :
1.a
2.b
3.c
4.d

Question Number : 57 Question Id : 7715134752 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TF 220/440 V TiRpTeR H e e oity au ofer, 0.3 Q @ 0.4 Q 3 v fedios 1iRly
du vfaer, 0.6 Q7 0.8 Q 71 fidtad e diecan & oo e o 0.6 pf oy # 5 A 9 v
3l

A 220/440 V transformer has a primary resistance and reactance of 0.3 Q and 0.4 Q
and secondary resistance and reactance of 0.6 Q and 0.8 (), respectively. Find the
secondary terminal voltage when supplying 5 A at 0.6 pf lagging.

(a) 400V
(b) 425V
(c) 430V
(d) 440V

Options :
1.a
2.b
3.C
4.d

Question Number : 57 Question Id : 7715134752 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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TF 220/440 V TiRpTeR & e e oiety autofer, 0.3 Q @ 0.4 Q 3 aun fedios oiRly
e, 0.6 Qa 0.8 Q 71 fidtad e decar & gar e 9 0.6 pf oy # 5 A 9 v
3l

A 220/440 V transformer has a primary resistance and reactance of 0.3 Q and 0.4 Q
and secondary resistance and reactance of 0.6 Q) and 0.8 (, respectively. Find the
secondary terminal voltage when supplying 5 A at 0.6 pf lagging.

(a) 400V
(b) 425V
(c) 430V
(d) 440V

Options :
1.a
2.b
3.C
4.d

Question Number : 58 Question Id : 7715134753 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

o ooy (fEr 9) # SCR @1 RMT ¥HY Sus 8, 60 mA P faedl 4RT qU1 30
mA ®! d¢9 4RIl WHF WA 8 SCR & 3R ¥ MdRgd GioH e fdWR & g7
The SCR in the following circuit (Figure 9) has turn ON time of 5 us, latching current of 60
mA and holding current of 30 mA. What is the minimum pulse width required to turn the SCR
ON in normal operation?

Df

E: 20Q
— 100V fc,-:l':] kQ
% 0.5H
3 9/Figure 9
(a) 150us (b) 200us (c) 250us (d) 300us
Options :
1.a

2.b
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3.C
4.d

Question Number : 58 Question Id : 7715134753 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fafefed tRuy (@ 9) 7 SCR &1 R §HY Sus 3, 60 mA @I RiedHl 4RT 941 30
mA ®! d¢9 4RI WHR TG H SCR & 3R ¥ MdRgd Yo e [dWR &1 g7
The SCR in the following circuit (Figure 9) has turn ON time of 5 us, latching current of 60
mA and holding current of 30 mA. What is the minimum pulse width required to turn the SCR
ON in normal operation?

Df

2200
— 100V ::’: 10 kQ
2 05H
f3 9/Figure 9
(a) 150us (b) 200us (c) 250us (d) 300us

Options:
1.a
2.b
3.¢C
4.d

Question Number : 59 Question Id : 7715134754 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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R 4RT fiqad Tes & fou fefifea & o @ 9 ¥

Which of the following is NOT true regarding current fed inverter?

(a) faggd WIE® R FriA urT @ PSP fow o & qur fi diedr 4R widsen &
TPld ® R 8
Output current is decided by the inverter and output voltage depends on nature of
load impedance

(b) @ a0 & U 7em I6f Widd 309 & 8d 9 o
Suitable for generating medium frequency power for induction heating
(c) Mdw W@y, = WidarEn &1 gHi ey
The input supply should be of high impedance
(d) CFI & T ofiedl YR, Tuigiy 4niedl & fou 9= Wiaamen fear dige
Ideal load for CFI should present a high impedance to harmonic currents
Options :
1.a
2.b
3.C

4.d

Question Number : 59 Question Id : 7715134754 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

YR1 4Rd fdgqd Yared o fou fgfofaa 9 @ 98t 181 &7
Which of the following is NOT true regarding current fed inverter?

(a) faggd WIE® R FrA uR1 @ Fic fow o § qun fi diedr 4R wioan &
TPld ® R 8
Output current is decided by the inverter and output voltage depends on nature of
load impedance

(b) @ W & U 79m IR iad 309 & 8d 99 o
Suitable for generating medium frequency power for induction heating
(c) Mdw W@y, = WidarEn &1 gHi ey
The input supply should be of high impedance
(d) CFI & T ofiedl YR, Tuigiy 4niedl & fou 9= Wiaamen fear dige
Ideal load for CFI should present a high impedance to harmonic currents
Options :
1.a
2.b
3.c

4.d

Question Number : 60 Question Id : 7715134755 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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{d-diced] WY (T Ggfed dH-Sl YR @I RO dXdl dH-bal PWM fdgqd Tea
R JdIed) §1 e Rwww § diww a dW weRkd & a5 o SR @1 o g
Fffep:

In the harmonic analysis of the pole-voltage waveform (produced by a three-phase PWM
inverter feeding a balanced three-phase load) the 3rd and multiples of 3rd harmonics are
ignored because:

(a) 9 4@ dicedl § UHe T EM
They will not appear in pole voltage
(b) § FER Bl dicedl H Ude T g
They will not appear in load phase voltage
(c) d &R Pl dlced] qUT W dlcedl # Whe Tl B
They will not appear in load phase and line voltage
(d) 4 TE7 diced! ® Ude gt o ®ar dicedl H ol

They will appear in line voltage but not in phase voltage

Options:
1.a
2.b
3.c
4.d

Question Number : 60 Question Id : 7715134755 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

{0-ded] WY (16 Yqad dH-Ba ¥R @ RO S dH-a PWM figqd T

N Safed) @ oA foveww # dgw ou dWR akd & aga @ SuE @) S 8

wffeh:

In the harmonic analysis of the pole-voltage waveform (produced by a three-phase PWM

inverter feeding a balanced three-phase load) the 3rd and multiples of 3rd harmonics are
ignored because:

(2) 4 3@ diced ¥ e Tgl ghl
They will not appear in pole voltage
(b) 3 FER Tal deed B W T o
They will not appear in load phase voltage
(c) § JER Bl diced] aYT TR dicedl § Udbe T8l oil
They will not appear in load phase and line voltage
(d) d TR dicedt # e g fed Sl diced H Tl

They will appear in line voltage but not in phase voltage

Options :
1.a
2.b
3.C
4.d
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Question Number : 61 Question Id : 7715134756 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0
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-1 o1 4 1 TR el §/Which figure completes the stafement?

@ | 0

Options :
1.a
2.b
3.c
4.d

o

is to
as

1§ to

-

GET IT ON
Google Play

Question Number : 61 Question Id : 7715134756 Question Type : MCQ Option Shuffling : No
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-1 o1 4 1 TR el §/Which figure completes the stafement?

@ | 0

Options :
1.a
2.b
3.c
4.d

o

is to
as

1§ to

-

GET IT ON
Google Play

Question Number : 62 Question Id : 7715134757 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0
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U 199 Uog H e 16T 0 & SJUR d8 HdI-1Udl & U F=f & Ul Dl g2H
@l TAH @ H g4 S & P OHG odl gl [BR 9g Ul diie ¥R NS4 BF &
¥ @ 39 TF & Uetid Pidd H YIdH ST § gl 39 &= @l Wt fopar 7 g
Il & Do 4 & U AP & $F B & 100 AA-0d §R1 99 @A H I
T el fHHiied § U, UiC el &, Sdd PUwd H HG-1Udl G HF 7 W &g Sfd
BRI FH-T 32

A program instituted in a particular state allows parents to prepay their children's future college
tuition at current rates. The program then pays the tuition annually for the child at any of the
state's public colleges in which the child enrolls. Parents should participate in the program as a
means of decreasing the cost for their children's college education. Which of the following, if true,
is the most appropriate reason for parents NOT to participate in the program?

(a) Tl U & 19 Ui Pl o Hell g, 3¢ IddT Ad-iudl g B
The parents are unsure about which public college in the state the child will attend.

(b) Td Sfert Ml & o fhdt o uiid el H Sl W UG gikd o T,
g2 & od il U ol § i § & ¥ & e ard ¥ el grl
The amount of money accumulated by putting the prepayment funds in an interest

bearing account today will be greater than the total cost of tuition for any of the public
colleges when the child enrolls.

O T & Uew B9 & qite RE arg fae oY & aite sged @ O d
Tid ¥ 94 @I 4G gl
The annual cost of tuition at the state's public colleges is expected to increase at a faster
rate than the annual increase in the cost of living

(d) o0 & P Uledd Dicid FT Y U SIH AN B dgH @ [ddR IR B &
Some of the state's public colleges are contemplating large increases in tuition next year
Options :
1.a
2.b
3.c

4.d

GET IT ON
Google Play

Question Number : 62 Question Id : 7715134757 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0
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U 199 Uog H e 16T 0 & SJUR d8 HdI-1Udl & U F=f & Ul Dl g2H
@l TAH @ H g4 S & P OHG odl gl [BR 9g Ul diie ¥R NS4 BF &
¥ @ 39 TF & Uetid Pidd H YIdH ST § gl 39 &= @l Wt fopar 7 g
Il & Do 4 & U AP & $F B & 100 AA-0d §R1 99 @A H I
T el fHHiied § U, UiC el &, Sdd PUwd H HG-1Udl G HF 7 W &g Sfd
BRI FH-T 32

A program instituted in a particular state allows parents to prepay their children's future college
tuition at current rates. The program then pays the tuition annually for the child at any of the
state's public colleges in which the child enrolls. Parents should participate in the program as a
means of decreasing the cost for their children's college education. Which of the following, if true,
is the most appropriate reason for parents NOT to participate in the program?

(a) Tl U & 19 Ui Pl o Hell g, 3¢ IddT Ad-iudl g B
The parents are unsure about which public college in the state the child will attend.

(b) Td Sfert Ml & o fhdt o uiid el H Sl W UG gikd o T,
g2 & od il U ol § i § & ¥ & e ard ¥ el grl
The amount of money accumulated by putting the prepayment funds in an interest

bearing account today will be greater than the total cost of tuition for any of the public
colleges when the child enrolls.

O T & Uew B9 & qite RE arg fae oY & aite sged @ O d
Tid ¥ 94 @I 4G gl
The annual cost of tuition at the state's public colleges is expected to increase at a faster
rate than the annual increase in the cost of living

(d) o0 & P Uledd Dicid FT Y U SIH AN B dgH @ [ddR IR B &
Some of the state's public colleges are contemplating large increases in tuition next year
Options :
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 63 Question Id : 7715134758 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0

TG fadeu! H 4 fGU 16 FRAUDULENT &1 [atRTdmd 1 afel 16 o1 0 ¢

Choose one of the following options that means the opposite of the given word:
FRAUDULENT

(@) Candid
(b) Direct
(c) Forthright
(d) Genuine
Options :
1.a

2.b


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

3.C
4.d

Question Number : 63 Question Id : 7715134758 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

e fadeu! H 4 foU 1 FRAUDULENT &1 fawTamd i ael 316 o 9t ¢

Choose one of the following options that means the opposite of the given word:
FRAUDULENT

(@) Candid
(b) Direct
(c) Forthright
(d) Genuine
Options :
1.a

2.b

3.¢C

4.d

Question Number : 64 Question Id : 7715134759 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0
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Options:
1.a
2.b
3.¢
4.d

Td WE-GHod A6 M98 @R W@ 5l GHH §, & o0 4 oy aigd @ Rufa g
Uls T WH R g Ul o T ¥ 05 W To @ %@ U1l Uil 9 oI e Tl
foren § U4 99 Wl W a A T |1 0! TR oAl @ Ul O § o 9 el
59 fomeRdl B o 31 3o gl AU ®@ W @ HI0 T 3 T B

A co-worker is undermining you. Currently, he is at a less senior position than you in the company
and hasn't been working there for long. However, he is better educated than you and is also
considered a fast learner. You know from a third party that he is interested in taking over some
of your responsibilities What would you do and why? Choose the BEST

(a)
(b)

(d)

Al & o T ¢, 01 U SAOR DULH 9 T G AW AR &

You wait to see how things develop; at the moment this information is merely hearsay

G o A A e i T e s e
o o BT & T s RV § S & o e B §
1 EHl TH oW Y U 96 51 U T Uml W Y FTOR & ¢ dl 9%
iG HeH Jord

You call your co-worker in for a talk. You explain that cooperation is an essential feature
of any workplace and tell him you believe both of you can learn from one another. If he
refuses to understand you take more serious steps

30 U8 Al R 58 T @ 3 G Tl o Ted| T 39 A B Waew
I RUE DU T 3 F-Bridal Bl HoRIld B & Ry 9 ¢

You do not want to take any chances with such issues. You report the matter to your
supervisor and advise him to consider replacing your co-worker

it o WG @IS a1 o Fl T Teq, A0 A AR A BN B
q 39 Te-oiad @l Yo ® b 39a1 daer S §

Since you do not want to make a "big deal" out of the issue, you ask a third party to
intimate to your co-worker that his behaviour is unacceptable

GET IT ON
Google Play

Question Number : 64 Question Id : 7715134759 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0
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Options:
1.a
2.b
3.¢
4.d

Td WE-GHod A6 M98 @R W@ 5l GHH §, & o0 4 oy aigd @ Rufa g
Uls T WH R g Ul o T ¥ 05 W To @ %@ U1l Uil 9 oI e Tl
foren § U4 99 Wl W a A T |1 0! TR oAl @ Ul O § o 9 el
59 fomeRdl B o 31 3o gl AU ®@ W @ HI0 T 3 T B

A co-worker is undermining you. Currently, he is at a less senior position than you in the company
and hasn't been working there for long. However, he is better educated than you and is also
considered a fast learner. You know from a third party that he is interested in taking over some
of your responsibilities What would you do and why? Choose the BEST

(a)
(b)

(d)

Al & o T ¢, 01 U SAOR DULH 9 T G AW AR &

You wait to see how things develop; at the moment this information is merely hearsay

G o A A e i T e s e
o o BT & T s RV § S & o e B §
1 EHl TH oW Y U 96 51 U T Uml W Y FTOR & ¢ dl 9%
iG HeH Jord

You call your co-worker in for a talk. You explain that cooperation is an essential feature
of any workplace and tell him you believe both of you can learn from one another. If he
refuses to understand you take more serious steps

30 U8 Al R 58 T @ 3 G Tl o Ted| T 39 A B Waew
I RUE DU T 3 F-Bridal Bl HoRIld B & Ry 9 ¢

You do not want to take any chances with such issues. You report the matter to your
supervisor and advise him to consider replacing your co-worker

it o WG @IS a1 o Fl T Teq, A0 A AR A BN B
q 39 Te-oiad @l Yo ® b 39a1 daer S §

Since you do not want to make a "big deal" out of the issue, you ask a third party to
intimate to your co-worker that his behaviour is unacceptable

GET IT ON
Google Play

Question Number : 65 Question Id : 7715134760 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0
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ST BN [T fGum o srice @ided & €0 B B 519U R HURd
GEE & {0 AT U HaRsdist B daR U6 Ted 4 B B 31 ol Sy @I
oM fauM Sfawadarst 1 del Ul 9gd THORI 5, didd B8 Tedl & UY IUbI
foinar ¥ W g1 P &1 $Y IR & ARE

Denise works as an office receptionist in the county building department. She receives a call from
a customer asking questions about the planning department's requirements for a home-based
business. Denise has some unofficial knowledge of the planning department's requirements, but
some of the customer's questions are not within Denise's scope of expertise. How should Denise

respond?
(&) WEP Bl TaY & dl S B @) § T S0 WA & IW ¢, b I MG B
f 9 Qaiell &l FreAT faum ¥ §ig o

Tell the customer what she thinks are most likely the answers but warn her that the
information needs to be verified with the planning department

(b) WEd @ §a b IU FoHl faur ¥ 91 B B HaRGdal § 9Ul FDbl YU
W G% afEpraln to the customer that she needs to speak with the planning
department and offer their contact information

(c) T8 ARG YW & O B! o BN 5, 39 Ted Bl gl
Tell the customer what she knows about homebased businesses

(d) & AM 3R Ted Bl AU & T T8 ARG FaUE & TR H B THOR Ta
% Apologize and tell the customer that she doesn't have information on home-based
businesses

Options:
1.a
2.b
3.C
4.d

Question Number : 65 Question Id : 7715134760 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0
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ST BN [T fGum o srice @ided & €0 B B 519U R HURd
GEE & {0 AT U HaRsdist B daR U6 Ted 4 B B 31 ol Sy @I
oM fauM Sfawadarst 1 del Ul 9gd THORI 5, didd B8 Tedl & UY IUbI
foinar ¥ W g1 P &1 $Y IR & ARE

Denise works as an office receptionist in the county building department. She receives a call from
a customer asking questions about the planning department's requirements for a home-based
business. Denise has some unofficial knowledge of the planning department's requirements, but
some of the customer's questions are not within Denise's scope of expertise. How should Denise
respond?

(&) WEP Bl TaY & dl S B @) § T S0 WA & IW ¢, b I MG B
f 9 Qaiell &l FreAT faum ¥ §ig o
Tell the customer what she thinks are most likely the answers but warn her that the
information needs to be verified with the planning department

(b) WEd @ §a b IU FoHl faur ¥ 91 B B HaRGdal § 9Ul FDbl YU
W G% afExplam to the customer that she needs to speak with the planning
department and offer their contact information

(c) T8 ARG YW & O B! o BN 5, 39 Ted Bl gl
Tell the customer what she knows about homebased businesses

(d) & AM 3R Ted Bl AU & T T8 ARG FaUE & TR H B THOR Ta
% Apologize and tell the customer that she doesn't have information on home-based
businesses

Options:
1.a
2.b
3.C
4.d

Question Number : 66 Question Id : 7715134761 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Optimist is to cheerful as pessimist is to

(a) Gloomy
(b) Mean
(c) Petty
(d) Helpful
Options :
1.a

2.b

3.C

4.d

Question Number : 66 Question Id : 7715134761 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0
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Optimist is to cheerful as pessimist is to
(a) Gloomy
(b) Mean
(c) Petty
(d) Helpful

Options :
1.a
2.b
3.c
4.d

Question Number : 67 Question Id : 7715134762 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

IS 0 g 2 I Wi BeMWhich one will replace the question mark 2
CRVNONONORS
® @ ®
0 0 O

Question Number : 67 Question Id : 7715134762 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Options :
1.a
2.b
3.c
4.d
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IS4 0 g 2 @I Wicaiid HeWhich one will replace the question mark 7
ORVECRCNONO
® @ @
O ©

Question Number : 68 Question Id : 7715134763 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Options:
1.a
2.b
3.c
4.d
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Convex mirrors are used for rear-view mirrors of vehicles. What is the advantage of using
a convex mirror instead of a flat mirror?

Convex

Flat

(a) WTSa g It provides a clearer reflection
(b) S fod TGT ¥ g1 ¢/ It has a more accurate reflection
0 T 1 DIV &3 WIC 31 B % o
The wider angle of view reduces blind spots
(d) I 31 1 W el M ¢ It is easier to clean a convex mirror
Options :
1.a
2.b
3.¢C
4.d

GET IT ON
Google Play

Question Number : 68 Question Id : 7715134763 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0
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Convex mirrors are used for rear-view mirrors of vehicles. What is the advantage of using
a convex mirror instead of a flat mirror?

Convex

Flat

(a) WTSa g It provides a clearer reflection

(b) S fod TGT ¥ g1 ¢/ It has a more accurate reflection

0 T 1 DIV &3 WIC 31 B % o

The wider angle of view reduces blind spots

(d) I 31 1 W el M ¢ It is easier to clean a convex mirror
Options :
1.a
2.b
3.¢C
4.d
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Question Number : 69 Question Id : 7715134764 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0
FAG, GAF, HAI, 1AH,

(a) JAK

(b) HAL

(c) HAK
(d) JAI

Options :
1.a

2.b
3.cC
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4.d
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Question Number : 69 Question Id : 7715134764 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0
FAG, GAF, HAI, 1AH,

(a) JAK
(b) HAL
(c) HAK
(d) JAI
Options :
1.a
2.b
3.cC
4.d

Question Number : 70 Question Id
Correct Marks : 1 Wrong Marks : 0

: 7715134765 Question Type : MCQ Option Shuffling : No

Raved BR & UdHe & g TGaEe Sy & Ulie ¥ &9 gl fifded e &
HUIEHE BT Hel T9aRe dAY & 3Uce ¥ WIel gl oA SfulcHe il | ¥, foifdmes
e 9ed WIel 7o ol Ofe Ugd & o BU el §, O AR B L. g

Apartments in the Riverdale Manor cost less than apartments in The Gaslight Commons.

Apartments in the Livingston Gate cost more than apartments in the Gaslight Commons. Of the
three apartment buildings, the Livingston Gate costs the most. If the first two statements are true,

the third statement is

(a) el/True

(b) Icid/False

(c) 3%d/Uncertain

(d) Swfad FHl/All of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 70 Question Id
Correct Marks : 1 Wrong Marks : 0

: 7715134765 Question Type : MCQ Option Shuffling : No
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Apartments in the Riverdale Manor cost less than apartments in The Gaslight Commons.
Apartments in the Livingston Gate cost more than apartments in the Gaslight Commons. Of the

three apartment buildings, the Livingston Gate costs the most. If the first two statements are true,
the third statement is

(a) Wel/True

(b) TIcid/False

(c) HHYd/Uncertain

(d) SITE THYAIl of the above

Options:
1.a
2.b
3.C
4.d

Part 11

Question Number : 71 Question Id : 7715134766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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It is being given that (22 + 1) is completely divisible by a whole number. Which of the
following numbers is completely divisible by this number?

(@ (2'+1)
(b) (2*°-1)
€) (72¥)
@ (2%+1)
Options :

1.a

2.b

3.c

4.d
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Question Number : 71 Question Id : 7715134766 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

TR fon Tn g 6 (222 + 1) U0l Wi U O ¥ W faou | i emnadf o 9, 30 e
Ul e ¥ fanwg d- 2

It is being given that (22 + 1) is completely divisible by a whole number. Which of the
following numbers is completely divisible by this number?

Options :
1.a
2.b
3.C
4.d

Question Number : 72 Question Id : 7715134767 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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During the past year, Josh saw more movies than Stephen. Stephen saw fewer movies than
Darren. Darren saw more movies than Josh. If the first two statements are true, the third

statement is

(a) Wel/True

(b) TIcId/False

(c) HHd/ Uncertain

(d) ITdad FHI/All of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 72 Question Id
Correct Marks : 2 Wrong Marks : 0

: 7715134767 Question Type : MCQ Option Shuffling : No
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During the past year, Josh saw more movies than Stephen. Stephen saw fewer movies than
Darren. Darren saw more movies than Josh. If the first two statements are true, the third

statement is

(a) Wel/True

(b) TIcId/False

(c) HHd/ Uncertain

(d) ITdad FHI/All of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 73 Question Id
Correct Marks : 2 Wrong Marks : 0

: 7715134768 Question Type : MCQ Option Shuffling : No
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To which group does the figure belong?

A | /)
Group A M\ \/\;
N
Group B '\/ VIO
(a) A
(b) B
(c) A& ATB/Neither AnorB
(d) Jwe GHAI of the above
Options :
1.a
2.b
3.¢C
4.d

4

NI®

Y F
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Question Number : 73 Question Id : 7715134768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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To which group does the figure belong?

g

(d

Options :
1.a
2.b
3.c
4.d
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Google Play

Question Number : 74 Question Id : 7715134769 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

q U AT B ﬂ?f\&il_‘f OHd %,!’The'a,r felt safer

p:Udd a'@:ﬂfm watch the mountain

Q: U Hg o wlal/of more than five miles
R: ¥ d T&R BId TW/as they settled down

S:Udh ?\P[ ’-@f,v'frc-m a distance

(a) RPSQ
(b) RSQP
(c) PQSR
(d) PRSQ

Options :

E?FIT T I%E!ﬂhe Proper sequence should be:
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1.a
2.b
3.c
4.d

Question Number : 74 Question Id : 7715134769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

q U AT B ﬂ?ﬁlﬁ IER %,R'Theyr felt safer

p:Udd ﬂ?ﬂﬂfm watch the mountain

Q:Ud Hg o wlGl/of more than five miles
R:WY § &R Eﬂﬁ U/as they settled down
S:Udh ?\P[ '\Ef,v'frc-m a distance

Giﬂ\_ﬂ 67 4N, Saa®q ........ E;'FIT q I%E!ﬂhe Proper sequence should be:

(a) RPSQ
(b) RSQP
(c) PQSR
(d) PRSQ

Options :
1.a
2.b

3.¢C
4.d

Question Number : 75 Question Id : 7715134770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In the diagram shown below, which pulleys are turning clockwise?

Options :
1.a
2.b
3.c
4.d

direction of travel
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Question Number : 75 Question Id : 7715134770 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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In the diagram shown below, which pulleys are turning clockwise?

direction of travel
w
1\

o) (o)

chain

(o) (op
OINI0

Options :
1.a
2.b
3.c
4.d


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

Descriptive

Question Number : 76 Question Id : 7715134771 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5
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fer 109 0% o ¥ Jofd 9R 39 U DC UREEH ®I SR T gl 120V ded ¥ fi
Ted B 39 0O figqd dd ® SwWn fw o g1 A @1 87 o) @ RR @ m ol
T @ AR WRIY 0.5 M §1 T8 B FA0q 99 W 500RPM # RR AR o |
T VI § Faih URadD, 0.85 Bl IWNG 3 W TERH Bl 8 adl HHR S0A URT
BYU| 39 TO4E T A B 3R I R A Tl § e 204 91 RR R W
Ul 3% &1 SN dXd U 7fd @ S00RPM § &R W@l 9l gl R mafy 20kHz g
M o 6 Wil 9ed SMEH § qu dWR YR A FH T g1 yau H A # SR 9 T
fgfafed @1 gedied B

A four quadrant separately excited DC drive is shown in Figure 10. It is used in an electric
vehicle powered from a 120V battery. The field current of the motor is kept constant. The
armature resistance of the motor is 0.50hm. The vehicle is being driven on a level road at a
constant motor speed of S00RPM while the converter is operating at a duty cycle of 0.85 and
armature drawing a current of 50A. The vehicle then moves down a gradient in the same
direction but the speed is maintained at SO0RPM by employing regenerative braking at a
constant current of 20A. The switching frequency is 20kHz. Assume that all components are
ideal and ripple in the armature current is negligible. Evaluate the following when the vehicle
is moving down the gradient.

i. ol dedl URVAverage battery current
i 98 H 999 W& dicH & AH/Power returned to the battery

& Se-3M0l/Braking torque

8

L ¥ ¥
Q o L Q,
1 AP AD:;
4+ R
- Load
s A B
AD \ D
o ‘ 4 AD, 0,
3 10/Figure 10
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Question Number : 76 Question Id : 7715134771 Question Type : SUBJECTIVE Consider As

Subjective : Yes
Correct Marks : 5
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fer 109 0% o ¥ Jofd 9R 39 U DC UREEH ®I SR T gl 120V ded ¥ fi
Ted B 39 0O figqd dd ® SwWn fw o g1 A @1 87 o) @ RR @ m ol
T @ AR WRIY 0.5 M §1 T8 B FA0q 99 W 500RPM # RR AR o |
T VI § Faih URadD, 0.85 Bl IWNG 3 W TERH Bl 8 adl HHR S0A URT
BYU| 39 TO4E T A B 3R I R A Tl § e 204 91 RR R W
Ul 3% &1 SN dXd U 7fd @ S00RPM § &R W@l 9l gl R mafy 20kHz g
M o 6 Wil 9ed SMEH § qu dWR YR A FH T g1 yau H A # SR 9 T
fgfafed @1 gedied B

A four quadrant separately excited DC drive is shown in Figure 10. It is used in an electric
vehicle powered from a 120V battery. The field current of the motor is kept constant. The
armature resistance of the motor is 0.50hm. The vehicle is being driven on a level road at a
constant motor speed of S00RPM while the converter is operating at a duty cycle of 0.85 and
armature drawing a current of 50A. The vehicle then moves down a gradient in the same
direction but the speed is maintained at SO0RPM by employing regenerative braking at a
constant current of 20A. The switching frequency is 20kHz. Assume that all components are
ideal and ripple in the armature current is negligible. Evaluate the following when the vehicle
is moving down the gradient.

i. ol dedl URVAverage battery current
i 98 H 999 W& dicH & AH/Power returned to the battery

& Se-3M0l/Braking torque

8

L ¥ ¥
Q o L Q,
1 AP AD:;
4+ R
- Load
s A B
AD \ D
o ‘ 4 AD, 0,
3 10/Figure 10
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Question Number : 77 Question Id : 7715134772 Question Type : SUBJECTIVE Consider As

Subjective : Yes
Correct Marks : 5
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25V ¥ 35V 0@ & WM H oW diced U &% 9 lomV @ 3ifida FAF dicedt &
Y sV @1 FfA SdeT o3 9 9 & U § MOSFET d Bigiiin %6 & U H 0@
SIS &1 JUGN @ g 200mA I 2A @ &R YN §g U DC-DC 3Hfdgdd URaded i
e B 400 kHz 1 e ofigfd Ul e @ MR draddl fau @1 Swn &)
A LC e & e o YA & gFaq 7F @1 Tdl T

Design a non-isolated DC-DC converter to accept input voltage in the range of 25V to 35V and
to produce 5V output with maximum ripple voltage of 10mV and load current of 200mA to 2A
using MOSFET as switch and a diode as freewheeling component. Use switching frequency of
400 kHz and continuous conduction mode of operation. Find the minimum value of inductor
and capacitor of the output LC filter
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Question Number : 77 Question Id : 7715134772 Question Type : SUBJECTIVE Consider As

Subjective : Yes
Correct Marks : 5

25V ¥ 35V @@ © W H MY diccdl U &% T 10mV B S HA diced D
WY SV &1 7 IdeT $ Yl & & ®U § MOSFET d Wil 9 & ®0 4 W
SIS BT SWIT &Y §C 200mA ¥ 2A &l J&R R §g T DC-DC Hdgd IRddd @i
B BYI 400 kHz B Raed M9fy aul Waed &1 FRR drdal 991 & ST &)
i LC e & R aur YA & Hdd JH @ Gl |

Design a non-isolated DC-DC converter to accept input voltage in the range of 25V to 35V and
to produce 5V output with maximum ripple voltage of 10mV and load current of 200mA to 2A
using MOSFET as switch and a diode as freewheeling component. Use switching frequency of
400 kHz and continuous conduction mode of operation. Find the minimum value of inductor
and capacitor of the output LC filter

Question Number : 78 Question Id : 7715134773 Question Type : SUBJECTIVE Consider As

Subjective : Yes
Correct Marks : 5

1@ TG I 31 A &7 80W BI S AT URIY 6, of 0.5°C/W Bl TW AT
URIY B 0.05°C/W @1 W9 & WY T S W @ W do/l T g1 41 ©e @
IR dU HioRIY B, 0.25°C/W 81 Tidd &t Y doH &1 NG B 99 38 60°C
URAY U R Y HAEW A6 8l 1200C R YW qUEH B G0 T d U 9w
B, B A0 UfcRly @1 gHl aifew?

A power device has a power dissipation of 80W. It has a thermal resistance 6;. of 0.5°C/W.

It is mounted to a heat sink plate with a grease of thermal resistance Bog 0.05 C/W. The
computed thermal resistance of the metal plate is 8, 0.25 C/W. Compute the junction
temperature of the device when made to work at 60°C ambient temperature. What should be
thermal resistance of metal plate 65, to maintain junction temperature at 120°C?

Question Number : 78 Question Id : 7715134773 Question Type : SUBJECTIVE Consider As

Subjective : Yes
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Correct Marks : 5

16 P dd o A &7 S0W BI5GB 6, of 0.5°C/W &1 3H g
R Bgg 0.05C/W @1 W & T Uh S W ©e W de/l T gl U ©e @i
UR@fid il URRIY g, 0.25°C/W &1 giad @t Ul UM @1 tRdad & 99 399 60°C
URAY 0 R M HAE A 8l 1200C R U AUHH B U T & U Ui wle
TR N 1 A O o O

A power device has a power dissipation of 80W. It has a thermal resistance 8;. of 0.5C/W.

It is mounted to a heat sink plate with a grease of thermal resistance Bog 0.05 C/W. The
computed thermal resistance of the metal plate is Bg4 0.25 C/W. Compute the junction
temperature of the device when made to work at 60°C ambient temperature. What should be
thermal resistance of metal plate B5, to maintain junction temperature at 120°C?

Question Number : 79 Question Id : 7715134774 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

et 11 7 fow g At o fige wme® & LI=L2=L=50uH, C = i—guF, R=40 31DC

dieea Vg = 200V 31 Y @t iy 9 16.6 uS 31 T8 Uat o fis fovert aifoha TR Suaey
gl w7 4200 Hz 91 i g R R @I @ AR fom = 22/7

. i ey 50
The series resonant inverter shown in Figure 11 has L1=L2=L=50pH, C = P uF, R=40.

The DC input voltage is Vs= 200V. The turn off time of thyristor is 16.6 uS. Find out how
much dead band will be available when operating at an output frequency of 4200 Hz.
Assume T = 22/7

S Z Thyristor
Ti

L1=L

Vs
C L2=L

vo(t) LOAD _;Z Thyrister

T2

fm 11/Figure 11
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Question Number : 79 Question Id : 7715134774 Question Type : SUBJECTIVE Lonsiaer As
Subjective : Yes

Correct Marks : 5

fert 11 9 fég o goft ot fagga wames | L1=L2=L=50pH, € = i—guF, R=4Q 31DC faw

dieear Vs = 200V 21 U5 &1 e 599 16,6 S B1 78 ar @ & fovert aife ol uae
gt @ 4200 Hz 3t i smgfy Rmmer sR @I g AR d fom = 22/7

: i gy 50
The series resonant inverter shown in Figure 11 has L1=L2=L=50pH, C = PP uF, R=4Q.

The DC input voltage is Vs=200V. The turn off time of thyristor is 16.6 uS. Find out how
much dead band will be available when operating at an output frequency of 4200 Hz.
Assume m = 22/7

S 7 Thyristor
Ti

L1=L

Vs
C L2=L

volt) LOAD _}Z Thyristor

T2

fam 11/Figure 11

Question Number : 80 Question Id : 7715134775 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5
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wmﬁ% T AR B g1 0.55 & 3faHET 3 T4 | rad/s & $3@Aa (e

WSl M Y Tad R fgdta Bife argfora o & & o t& PD Foae W 79 s BUIes
TR B g o1 Sl 8| S & S1aRas WrE (SIUd il U4 s dtel) a1 Q7

0.1
s(s+1
infroduced to get a stable second order response with damping ratio of 0.55 and undamped
natural frequency of 1 rad/s. what are the parameters (proportional gain and derivative gain)

of the controller required?

A plant has a transfer function of . A PD controller and unity negative feedback are

Question Number : 80 Question Id : 7715134775 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

waﬁaﬁ% 1 R0 B 81 (.55 & Sfarie 3R W | rad/s & @R (deE)

WPl A Y Jol R fgdfa Pifc a1 oI & & foT W PD (978 T M d BUTeD
TR 1 e (o Wl ¢ | A & 1a0d TR (SUad aiel Ud Sfada aiel) a1 ¢

0.1

s(st
introduced to get a stable second order response with damping ratio of 0.55 and undamped
natural frequency of 1 rad/s. what are the parameters (proportional gain and derivative gain)

of the controller required?

A plant has a transfer function of . A PD controller and unity negative feedback are
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